Problem 10.26

An abc-phase-sequence three-phase balanced wye-connected 60-Hz source supplies a balanced delta-connected load.  The phase impedance in the load consists of a 
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 resistor in series with a 50-mH inductor, and the phase voltage at the source is 
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 V rms.  If the line impedance is zero, find the line currents in the system.

Suggested Solution


[image: image3.wmf](

)

203770.05 

j

D

=+W

Z



[image: image4.wmf]0 

line

=W

Z



[image: image5.wmf]12020 V rms

an

=Ð°

V



[image: image6.wmf]Y:

D®

     
[image: image7.wmf]Y

3

6.676.21 

3

3

AN

AB

aA

AB

j

D

====+W

V

VZ

Z

I

I



[image: image8.wmf]Y

          13.1023.28 A rms

an

aAaA

=Þ=Ð-°

V

II

Z



[image: image9.wmf]13.10143.28 A rms

bB

=Ð-°

I



[image: image10.wmf]13.1096.72 A rms

cC

=Ð°

I


_1059853507.unknown

_1059940873.unknown

_1059969499.unknown

_1059969348.unknown

_1059854206.unknown

_1059854254.unknown

_1059853543.unknown

_1051705492.unknown

_1059853446.unknown

_1051705378.unknown

